Settlement Q&A                                                                      April 15, 2002

ALABAMA TRIAL:

1. What constitutes “certain unrelated patented technology”?

Other processor-related patents Intergraph owned that were not a part of either case.

2. Are there ongoing royalties or is the licensing fully paid up by the $300 million?

There are no ongoing royalties from Intel.

3. Are there others in the industry you expect to collect royalties from? Can you forecast those revenues?
We believe that other vendors in the computer and electronics industries are benefiting from our technology, and we plan to hold discussions with each vendor. We’ll announce additional licenses as they are entered into, but at this stage, it’s not possible to estimate revenues that might result from future licensing agreements.

4. What does Intergraph plan to do with the $300 million it will receive May 1? 

In the next couple of weeks, our Board will look at various options to enhance shareholder value.  We expect to complete our analysis of available options by the time of our earnings conference call and Webcast on April 30.

5. Does this mean that Intel is admitting that they infringed your patents? 

This represents a settlement of litigation. As such, there’s no express admission of infringement. However, we believe that it does implicitly demonstrate the value and validity of our patents. 

6. What will be the tax consequences of the $300 million influx? 

Because of net operating losses (NOLs) from previous periods, the company should keep 80%-90% of the proceeds after taxes.

TEXAS TRIAL:

7. How long do you think the Texas trial will last?

It is scheduled for one week.

8. What does “liquidated damages” mean in the legal context?

The parties have agreed to a specific amount of damages rather than attempting to speculate on royalties of future sales.

9. Explain the $0 to $250 million range of value in the Texas lawsuit?  
This case was not settled, but we negotiated an agreement with Intel to set the value for the case at $250 million dollars and let it proceed to trial. Under this agreement, Intel will pay $150 million immediately if the Texas Court finds infringement.  Intel will also pay an additional $100 million if the appeals court upholds the infringement finding and they are unable to prove a workaround to the infringement.  Of course they will pay zero if they are found not to have infringed.

10. If you lose in Texas, then your total damages recovered will be $300 million?

Yes.

11. What does this mean with regard to your request for an injunction in Texas? 

If we win, we will get between $150-$250 million in cash instead of an injunction.

